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QUESTION 1

If a Dockerfile references the container\\'s base image without a specific version tag, which tag of that image is used to
create the container? 

A. latest 

B. default 

C. current 

D. nightly 

E. lts 

Correct Answer: A 

https://docs.docker.com/engine/reference/commandline/build/ 

 

QUESTION 2

How is cloud-init integrated with a managed system image? 

A. cloud-init provides the cloud-init-worker command which has to be invoked periodically within the running instance. 

B. cloud-init provides systemd units which must be included in several stages of the booting process of the instance. 

C. cloud-init provides its own startup mechanism which replaces the instance\\'s original init system, such as systemd. 

D. cloud-init provides a Linux kernel module that must be included and loaded in the instance\\'s initramfs. 

E. cloud-init provides the cloud-init-daemon service which is launched during startup and keeps the instance in sync
with the desired configuration. 

Correct Answer: B 

 

 

QUESTION 3

What implications does container virtualization have for DevOps? (Choose two answers.) 

A. Containers decouple the packaging of an application from its infrastructure. 

B. Containers require developers to have detailed knowledge of their IT infrastructure. 

C. Containers let developers test their software under production conditions. 

D. Containers complicate the deployment of software and require early deployment tests. 

E. Containers require application specific adjustment to the container platform. 
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Correct Answer: AC 

http://anandmanisankar.com/posts/container-docker-PaaS-microservices/ 

 

QUESTION 4

What is the default provider of Vagrant? 

A. virtualbox 

B. docker 

C. vmware_workstation 

D. lxc 

E. hyperv 

Correct Answer: A 

 

QUESTION 5

What happens if a grok filter in Logstash processes a log message which dose not match the pattern in the filter\\'s
match property? 

A. The message is passed to the unparseable output and no other filters are applied to it. 

B. The message is truncated to those parts which have been matched by the filters. 

C. The message is dropped and no other filters are applied to it. 

D. The message is kept unchanged and no other filters are applied to it. 

E. The message is flagged with the _grokparsefailure tag. 

Correct Answer: E 
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